; 2017 (S) Roll No:
INTERMEDIATE PART-I (11" CLASS)
CHEMISTRY PAPER-1 (NEW SCHEME) (SESSION 2015-2017)
TIME ALLOWED: 2.40 Hours SUBJECTIVE MAXIMUM MARKS: 68

NOTE: - Write same question number and its part number on answer book,
as given in the question paper.

SECTION-I
2, Attempt any cight parls. B8x2=16
i1 Mo individual neon atom in the sample of clement has mass of 20.18 amu.
(it} Writc names of any four methods emploved for the separation of [sotopes.
(i) Differentiate between Empirical and Molecular farmula,
(vl Define Analytical Chemistry,
(vi  Deline Sublimation giving example.
tvi)  Why there is need Lo erystallize the crude produet?
i(vil) - Derive density of a gas from general gas equation (PV = nRT ),
(viiil - Derive Avogadro’s Law from Kinetic Theory (Kinetic equation) of gascs.
(ix)  Derive units of a and b Vander Waal's Constant
(x)  What is Buffer Capacity?
(xi]  What is the effect of common ion un salubility?
(=11} What will be the effect of change in pressure on NH. synthesis N. + 34, == 2N/L.?
3. Attempl any eight parts, 8=2=16
i What is Trunsition Temperature? Give one example,
() State Lattice Energy with an example.
(i} Deseribe Crystallographie Elements.
(v} Suate Clectron Pool Theory.
(v)  Stale Moseley Law.  Also write itz importance.
fvi})  What is Azimuthal Quantum Number?
(vii) Describe Stark and Zeeman Fffect.
(vir)  Cathode rays do not depend vpon the nature of the gas, Fxplain
(%) What are Colligative Propertics?  Name important Colligative Properties.
%) MaC{ Lowers Lhe melting point of ice. Give reason.
{xt)  What is Standard Hydrogen Llectrode (SHE)?
ixii)  Give sume advantages of Fuel Cell.
4. Attempt any six parts. 6x2=12

(i) Why the distinetion berween Covalent Bond and Coordinate Covalent Bond vanishes after
the formation of bond in N4, and H,0)" etc.
(i) Why the bond angles of’ 11,2 and NH; arc not 109.5° like that of €1/, although Oxveen
and Nitrogen atoms arc sp” hybridized?
(1)  Define Sigma and Pi bonds,
tivi  Define Coordinate Cavalent Bond and give its one example.
(v What are Spontanecus and Non Spontancous Processes? Give one example of each.
fvi)  Differentiate between Exothermic reaction and Endothermic reaction, Give one example of each,
(viiy  Justify that the order of a reaction is obtained from the rawe expression of a reaction and
the rate expression is obtained from the experiment.
(viil)  Why the Radioactive Decay 15 First Order Reaction?
{ix)  Why the rate of 4 chemical reaction is an ¢ver changing parameter under the piven conditions?

SECTION-1I

NOTE: - Attempt any three questions.
Sda) Give any four properties of Tonic Solids. 4
th) A sample of liquid consisting of Carbon, Hydrogen and Oxygen was subjected to
combustion analysis 0.5439 g of compound gave 1.039 g of C(2. and 0.6369 g of H.0.

Metermine empirical formula of compound. 4

Gta)  Apply Kinetic Molecular Theory of gases to explain the Avogadro’s Law. d
(k1 Write the Postulates of Bohirs Atomic Model. 4
7.ta)  Define Hybridization. Explain the geometry of ., 7/, on the basis of sp® — Hybridization. L
(by  Give construction and working ol Glass Colorimetar 4

8.0a)  The solubility product of Ag.CrQ, is 2.6 %107 at 25°C.
Caleulate the solubility of the compound.
(m)  Describe the construction and working of Standard Hydrogen Electrode.

9iai  Describe measurement of depression of freezing point by Beckmann's Method.
(b Detine rate of reaction and explain the chemicul methed lor its determination.
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[Paper Code 2017 (S) Roll No,
TSR 7 7 1 IJ INTERMEDIATE PART-I (11" CLASS)

CHEMISTRY PAPER-1 (NEW SCHEME) (SESSION 2015-2017)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that cirele in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many guestions
as given in objective type question paper and leave others blank. No credit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,
).Na.l

(1) The volume occupied by 1.4 ¢ of N, at STP is:-
(A) 2.24dm’ (B) 22.4dm’ (C) 1.12dm° (D) 112em?

{2} [sotopes differ in- (A) Chemical properties (B) Arrangement of electrons in orbitals
(C) The extent to which they may be allected in electromapnetic field
(I3} Praperties which depend upon mass

(3 I'he most conmunon solvent used in solvent extraction is:-
(A) Dicthyl ether  (B) Acetone (C) Lthanol {I3) Rectified spirit

(41 will have the same number of molecules at STP.
(A) 11.2dm* of O, and 32g of O, (B) 280cm’ of CO, and 280cm’ of N,O
(C) 44g of CO, and 11.2dm’ of CO (D) 282 of N, and 5.6dm’ of O,

(3} Pressurc remaining constantat _ temperature the volume of a gas will become twice of
whatitisat 0" C¥ (A) 5346°C (B) 220°C  (C) 273K (D) 546 K

{0) Acetone and Chloroform are soluble in cach other due to:- (A} Intermelecular hydrogen bonding
(B) dipole-dipole interaction {C) Instantaneous dipole (D) All of these

(7 Amorphous solids:- (A) Have sharp melting point

(B) Undergo clean cleavage when cut with knife  (C) Have perfect arrangement of atoms

(D) Can possesses small repions of orderly arrangement of atoms
(8)  The maximom number of clectrons inan § orbial is:- (A)2 (B)ye (C) 10 (D) 14
(9] In lhe ground state of an atom, the electron is present:-

(A) In the nucleus (B) In the second shell (C) Farthest . from the nuclens (D) Nearest to the nucleus

(10) hydrogen halides has the highest percentage of ionic character.
(A) HCE (B} HBEr (C) HF () HI
(11) The geometry of CH, is:- (A) Tetrahedral (B) Trigonal planer (C) Linear (D) V —Shaped

(12)  For the reaction NaOH + HCP = NaCFf + H,0 the change in enthalpy is called:-

(A) Heat of reaction (B) Heat of formation  (C) Heat of combustion (D) Heat of neutralization

(13) For system does the equilibrium constant K ¢ has units of (Cancentration)™ .
(A) 2ZNO, ==— N.0, (B) N, + 3H, —== 2NH,

(C) H, +1, == 2HI (D) 2HF = H, + £
(14) The pHof 10 " mole dm ' of an aquasous solution of H,50, is:- (A)2.0 (B)LS (C)3.0 ()27
(130 __ solution has the highest boiling point. (A) 18.0 % solution of plucose

{B) 5.85 % solution of Sodiwm Chloride () 6.0 % solution of Urea (D) All have same boiling points
(16} Ifthe salt bridge is not used between two half cells, then the voltage:-

(A) Decrease rapidly  (B) Decrease slowly (C) Drops to zero (D) Does not change
(17) The unit of the rale constant is the same as that of the rate of reaction in:- (A) First order reaction

(B} Second order reaction () Third order reaction (D} Zero order reaction
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Paper Code 2017(8) Roll No.
vamber: 2483 | INTERMEDIATE PART-I (11" CLASS)

CHEMISTRY PAPER-I (NEW SCHEME) (SESSION 2015-2017)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices fur ench objective type question as A, B, C and D. The choice which you
think is carrect, fill that circle in front of that question number. Use marker or pen to fill the cireles.
Cutting or filling two or more cireles will result in zero mark in that question, Atlemp! us many questions
a8 given in ubjective type question paper and leave others blank. No credit will be awarded in case

BLBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
). Ng,l

(1) The pH of 10 mole dm™ of an aqueous solution of H,50), is- (A}2.0 (B}1LS ()30 ()27
(2) ____ solution has the highest boiling paint, (A) 1K.0 % solution of glucose

(B3 3.85 % solution of Sadium Chloride  {C) 6.0 % solution of Urea (D) All have same builing points
(3} 1M the salt bridge is not used between two half cells, then the voltage:-

{A) Decrcase rapidly (D) Deorease slowly  (C) Drops te zere (D) Does not change
(4)  The unit of the rate constant is the same as that of the rate of reaction in:- {A) First order reaction

{B) Second order reaction (L) Third order reaction (I Zero order reaction
(2} The volume occupied by 1.4 g of N, at STP is:-

(A) 224 dm’ (B) 22.4dm’ (C) 1.12dm’ (M 112em’

(6)  Isotepes differ in:-  (A) Chemical properties (B) Arrangement of electrons in orbitals

(€} The extent to which they may be affected in electromagnetic ield

(D) Properties which depend upon mass

(7)  The most commeon solvent used in selvent extracion is:-

(A) Diethyl ether  (13) Acetone (C) Ethanol (D) Reectified spirit

(8) __ will have the same number of molecules at STP.
(A) 112dwm® of 02, and 32g of O, (B) 280em” of CQ, and 280cm’ of N.O
() dde of OO, and 1L.2dm" of €0 () 28g of N, and 3.6dm" of (3,

(9) Pressure remaining constant at temperaturg the volume of a gas will become twice of
whatitisat 0°C? [A) 546" (! (B} 220"C () 273K (D) 346K

(10} Acetone and Chloroform are soluble in each other due to:-  (A) Intermolecunlar hydrogen bonding
{B) dipele-dipole interaction (C) Instantaneous dipole (D) All of these

(11)  Amorphous solids:- (A) Have sharp melting point

(B) Undergo clean cleavage when cut with knife  (C) Have perfect arrangement of atoms

(D) Con possesses small regions of orderly arrangement of aloms
(12)  The masimum number of clecrons inan S arbital is:- (A2 B)6 (10 (O 14
(13)  Inthe ground state of an atom, the electron is present:-

(A In the nucleus  (B) In the second shell (C) Fartherest from the nuclews (1) Mearest to the nucleus

(14) hydrogen halides has the highest percentage of ionic character.
(A} HCE (B) Hbr (Cy RF (D) il
(15)  The geometry of CH | isi- (A) Tetrahedral (B) Trigonal planer (C) Linzar () V — Shaped

(16} For the reaction NaQlf + HC! —» NaCé + H.O the change in enthalpy 1s called -

(A) Heat of reaction  (B) Heat of formation () Heat of combustion (DY) Heat of neutralization

(17} For system does the equilibrium constant K ¢ has units of (Concenrratian)™
(A} INO, == N0, (B) N; +3H, == INH,

C) H,+8 = 2HI )2 === H.+ &
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‘Paper Code 2017 (S) Roll No.

‘Numhm-: 2485 | INTERMEDIATE PART-I (11" CLASS)

CHEMISTRY PAPER-1 (NEW SCIHEME) (SESSION 2015-2017)

I'IME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note! You have four choices for each objective type question as A, B, C and D. The choice which yan
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles,
Cutting or liling two or more circles will result in zero mark in that question. Atlempt as many questions
as given in abjective type question paper und leave others blank., No credit will be awarded in case

BUBBLES are not filled, Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1

i1 Acemnne and Chloroform are soluble in each other due to:- (A} Intermiolecular hydrogen bonding
{B) dipole-dipole interaction () Instantaneous dipole (D) All of these
121 Amorphous solids:- (A) Have sharp melling point

(B Undergo elean cleavage when cul with knife  (C) Have perfect arrangement of atoms

(D) Can possesses small regions of orderly arrangement of aloms
(31 The maximum number of electrons inan & orbital 18:- (A)2 (Bo6 (C)y1o (D) 14
{4} o the ground state of an atom, the electron is present:-

(AY In the nucleus (B In the second shell (C) Fartherest fram the nueleus (D) Nearest to the nucleus

(5 hydrogen halides has the highest percentage of 1onic character.
(A) AICE (D) Har (Cy HF (L) Hi
{6)  The geometry of C/J, is:- (A) Tetrahedral (B} Trigonal planer (C) Lincar (D) V — Shaped

{7)  Torthe reaction NeOQH + HCFP —» NaC# + H.0 the change in enthalpy is called:-

(A) Heat of reaction  {13) Heat of Tormation  {C) Heat of combustion  (13] e ol neutralization

=
{8) Tor swatem does the equilibrium constant K ¢ has units of (Conceniration) ;
(A 280, =— N, (B M 3L, == 3N,

() H.o+l. == 2HI (D) 2HF =——= H,+ &
(%) The pH af 10 *mole din ' of an aqueous selution of H,80, is:- (A)2.0 (B) 1.5 (C) 3.0 (Dy 27
(10 solution has the highest boiling point. (A) 18.0'% solution ol glucose
(13} 5.%5 % solution of Sodium Chloride  (C) 6.0 % solution of Lirca (D) All have same boiling points
(11) If the salt bridge is not used bevween two half cells, then the voltage:-
(A) Decrease rapidly  (B) Decrease slawly  {C) Drops to zera (1) Does not change
(12) The unit of the tate constant is the same as that of the rate of reaction - {(A) First order reaction
(B) Second order reaction (C) Third arder reaction (I} Zero order reaction
(13} The volume occupied by 1.4 g of &, at STP is:-
(A) 2.24crn (B) 22.4dm’ (C) 1.12dm° (M NZem’
(14) lsoropes differ ini- (A} Chemical properties (B3) Arrangement of electrons in orbitals
(3 The extent 1o which they may be afTected in electromagnetic field
(T2} Properties which depend upon mass
(13} 'The most common solvent used in snlvent extraction 18-
(A} Digthyl ether (1) /Acetons () Ethanol (D) Rectified spirit
(18]  will have the same number of molecules at 5TF.
(A} 11.2dm" of €, and 32 g of O. (B) 280cm® of €O, and 280cm” of N,0
(C) 44g of CO, and L1.2dm’ of CO (D) 28g of N, and S.6dm® of O,

(17} Pressure remaining eonstant at _temperature the volume of a gas will become twice of
whatitisat 0°C? (&) 340°C (@) 220°C  (C) 273K (D) 340K
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Paper Code 2017 (S) RollNo.
Number: 2487 | INTERMEDIATE PART-I (11* CLASS)

CHEMISTRY PAPER-1 (NEW SCHEME) (SESSION 2015-2017)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choives for ench objective type question as A, B, C and D. The choice which yvou
think is eorreet, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or maore cireles will result in zero mark in that question. Atlempt as many guestions
as given in objective type gquestion paper and leave ethers blank. No eredit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
(}.No.l

{1y  will have the same number of molecules at STP.
(A) L12dm of O, and 32g of O, (B) 280¢m’ of CO, and 280cm’ of N,O
(C) 4dg of €O, and 11.2dm" of CO (D) 28g of N. and 5.6dm’ of O,

(2) Pressure remaining constantat __ temperature the volume of a gas will become twice of
whatitisat 0°C7 (A) 546°C (B) 220°C  (C) 273K (D) 546 K

(3) Acetone and Chloroform are soluble in cach other due to:-  (A) Intermolecutar hydrogen bonding
(B} dipole-dipole interaction (C) Instantaneous dipole (D) All of these

(43 Amuorphous solids:- (A) Have sharp melting point

(B) Undergo clean cleavage when cut with knife  (C) Have perfect arrangement of atoms
(D) Can possesses small regions of orderly arrangement af aloms
(53)  The maximum number of electrons in an & orbital is:- (A2 BYé6 (10 (D) 14
{6)  Inthe ground state of an atom, the electron is present:-
(A) In the nucleus (B) In the second shell (C) Fartherest from the nucleus (D) Mearest o the nucleus

hydrogen halides has the highest percentage of ionic character.
(A) HCY (By HBr (C) HF (1) HI
(8)  The geometry of (H, is:- (A) Tetrahedral (B) Trigonal planer (C) Linear (D) V - Shaped

(9)  Forthe renction NeOQH + HCS ~» NaCf + H,Q the change in enthalpy is called:-

(A} Heat of reaction  (I3) Heat of [ormation  (C) Heat of combustion (D) Heat of neutralization
(10) For system does the equilibriwm constant K ¢ has units of (Concentration)™ .

(&) 2N0, =— N;0, (BY N, + 3H, === 2NH,

) H,+1, == 2HI () 2HF =—— H, + F,
(11) The pif of 107" mole dm™ of an aqueous solution of H.S80, is- (A)20 (B)LS (C)3.0 (D)2.7
(12) solution has the highest boiling point. (A} 18.0 % solution of glucoss

(B} 5.85 % solution of Sodium Chloride  (C) 6.0 % solution of Urea (D) All have same boiling paints
(13)  Ifthe salt bridge is not used between two half cells, then the voltage:-

(A) Decrease rapidly  (3) Decrease slowly (C) Drops to zero (D) Does not change

(14) 'The unit of the rate constant is the same as that of the rate of reaction in:- (A) First order reaction
(B) Second order reaction (C) Third order reaction (D) Zero order reaction
(13} The volume occupied by 1.4 g of N, at STP is:-
(A) 2.24dm’ (B) 22.4dm’ (€) 1.12dm’ (D) 112em’
{16) Isolopes differini-  (A) Chemical properties (B) Arrangement of clectrons in orbilals

(C) The extent 1o which they may be allected in electrtomagnetic field
(D) Properties which depend upon mass
(17)  I'he most common solvent used in solvent extraction is:-

(A) Diethyl ether  (B) Acetone (C) Ethancl (D) Rectified spirnit
21(0b)) (T VE)-2017(S)-1300 (MULTAN)



2017 (S) Roll No:

INTERMEDIATE PART-I (11" CLASS)
CHEMISTRY PAPER-I (OLD SCHEME) (SESSION 2012-2014)
TIME ALLOWED: 3.10 Hours SUBJECTIVE MAXIMUM MARKS: 83

NOTE: - Write same question number and its part number on answer book,
as given in the question paper.

SECTION-I
2. Attempt any eight parts. 8x2=16
{1 Define Avogadro’s Number with two examples.

(i) Dehine Stivichiometric Assumptions.
(ur)  Prove N, and €@ have the same number of protons, electrons and Neutrons.
(ivi  How the crystallized substance is dried?
(v} Define Partition Chromatography. Give example.
(vi)  Wrnie down any two applications of Chromatography.
{vit}  What iz Absolute Zern?
(viil) Coenvert 80°C into F*.
(ix)  High pressure and low temperature maxe gas nen ideal. Justify.
()  Define pll and pOH,
(xi)  Represent Henderson's equation for Acidic and Basic Buller solution.
(xi1) Define Solubility.
3. Attempt any eight parts. 3=x2=16
(i) Bailing point of /7,0 is higher than that of HF. Why?
(i)  Define lsomorphism. Give one example,
(11 Whatis a Unit Cell? Give its dimensions.
{iv)  One leels sense of cooling under the fun alter bath. Give the reason.
V) State Pauli’s Exclusion Principle.
(vl Write electronic configuration of ,,Cw and ,,Cr.

{vil) Justifv that the velocities of electrons in higher orbits are less than thosc in
lower orbits of Hydrogen atom,

(viil) Evaluate the Mass of Electron.
(ix)  What is Fractional Crystallization?
(%)  Differentiate hetween Molality and Molanty,
(xi)  How can Copper be purified Electrolviically?
(xi1) Differentiate between Elecurolytic Cell and Voltaic Cell
d. Artempt any six parts. bx2=12
(1) Second lonization Energy is greater than first Ionization Energy. Justify it.
(ii) ({7, hus a Linear shape but H.( has bent shape. 'Why?
(1) ). 13 paramagnetic in nature. Why?
{iv) Lone pairs occupy more space than Bond Pairs. Why?
(v) Deline Spontaneous and Non-spontancous reactions with one example each.
(vi)  State with one example, Enthalpy of Atomization.
(vit)  What i3 Autocatalyst? Give an example.
{viii) What is Poisoning of a Catalyst? Give an example.

{(1x)  Draw energy profile diagrani of an Exothermic Reaction, Label it
P.T.O




(2)

SECTION-II
NOTE: - Attempt any three questions of the following:-
Sa) What is Limiting Reactant?  How it is identified? 4
(h)  What are London Dispersion Forces? Write the factors affecting London Dispersion Forces. 4

futu)  250em” of the sample of Hydrogen(/7,) effuses four times as rapidly as 250cm” of an unknown gas.

Caleulate the molar mass of unknown gas, 4

'0) bxplain Milikan's oil drop experiment o determine e/m ratio of Electron. 4

Yiap Deline lomzation Encrgy. Explain the factors influencing it, 4

thy  State and explain First Law of Thermodynamics, Alse prove AE =g, 4

8.ul Give four characteristics of Enzyme Catalysis. 4
'b) - Caleulate the pH of a buffer solution in which 0.11 molar CH,COONa and 0.09 molar acetic acid

solutions are present.  Ke forCH,CO0H is 1.85x 107 4

Y4a)  How is boiling point elevation of & liquid measured? Explain with diagram
by Landsherger’s Method). g

'b) What is SHE? Describe a method to determine Electrode Potential of Zine with it
Give diagram. 4

SECTION-111 (PRACTICAL PART)
1. NOTE:- Attempt any three parts, (5x3 =15)

(i)  Write down standard solution, chemical equation with mole ratio,
indicator with end point, procedure and supposed readings with
caleulations fur part A, B & C,

{ii) Write down material required, diagram and procedure for part D & E.

(A} The given solution contains 6.3 grams of (COOI ). xH,0 dissolved per dm’ .
Find out value of "x" by Volumetric Method,

(B} The given solution contains 12 grams Ammonium Oxalate (NH, ), C,0, . 1,0 and

Ammenium Sulphate ( VH ), SO, dissolved per dm”. Find out the percentage of each by
Volumetric Methnd.

(€1 The given solution contains 15 g of impure iodine dissolved per dm’,
Find percentage impurity of sample by Volumetric Method.

(I3} Prepare Pure Crystals of Benzoic Acid from Impure sample by using Water as solvent.

(I5} Separate the mixture of two inks by Paper Chromatography.

21-2017(8)- 39 ¢ (MULTAN)




| Paper Code 2017 (S) Roll No.

6481 | INTERMEDIATE PART-I (11" CLASS)

Number:

CHEMISTRY PAPER-1 (OLD SCHEME) (SESSTION 2012-2014)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number, Use marker or pen o fill the cireles.
Cutting or filling two or more circles will result in zero mark in that question. Aftempt as many guestions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled, Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.
(1) The number of moles of CO, which contain 8.0 g of Oxygeniss-(A) 0.25 (B) 0.5 (C) 1.0 (D) 1.5
(2) A limiting reactant is the one which:-
(A} Is taken in lesser quantity in grams as compared 1o other reactants
(B) Is taken in lesser quantity in volume as compared to other reactants
{C) Gives the maximum amount of product which is required
{12} Gives the minimum amount of product under consideration

(3)  Solvent extraction is an equilibrium process and it is controlled by;- (A) Law of Mass Action

(B) The amount of solvent used  (C) Distribution Law (D) The amount of solute

(4)  Number of molecules in one dm” of water is closed to:-

6.2 12.04 ; . 18 3
A) — % 10% 10% C % 10% 55.6 x 6.02x 10"

W o ®) 52 O %" ®)
(3)  Areal gas obeying Yander Waal's equation will resemble ideal gas if:-  (A) Both ‘a’ and ‘b’ are large

(B) Both "2’ and *b® are small (C) ‘a’ is small and *b" is large (D) "a’ is large and ‘b’ is small
{6} In order to mention the boiling puint of water ar 110°C, the external pressure should be:-

(A) Between 760 torr and 1200 torr (B) Between 200 torr and 760 torr

(C) 765 torr (D} Any value of pressure
(7 _is a pscudo solid.

(A) Cak, (B) Glass (C) NaC¥ (L) Any tvpe of crystal

(8)  The wave number of the light emitted by a certain source is 2 % 100%™,
The wave length of this light will be:- (A) 500em  (B) 500m  (C) 200nm (D) 3x10"m

(9)  When 6 d orbital is complete, the entering electron goes into:-

(A) 7f (B) 75 © 7p (D) 74
(10} The number of bands in Nitrogen molecule is:-

(A)One o and one # (B)One o and two #  ({) Thiee o only (D) Two o and one =
(11) ___has zero dipole moment. (A) NH, (B) CHCY, (Cy H,0 (D) BF,
(12) Calorie is equivalent to:- (A)04184] (B)41.84] (Cy4.184] (D)4184])
(13) The pH of 107 mol dm™ of an aqueous solution of H,80, is:i- (A)3.0 (B)27 (C)20 (D)1.3

(14)  The solubility product of 4gCf is 2.0 x 107" mo/*dm™ . The maximum concentration of Ag' ions
in the solution is:- (A) 2.0 x 10 " mol dm*

(B) 1.41 % 107" mol dm™ (C) 1.0 x 107 mol dm™ (D) 4.0 2 107 mol dm™
(L5) 18g of glucase is dissolved in 90 g of water. The relative lowering of Vapour pressure is equal to:-

(A) = ®)5.1 © - ®) 6
a 51

(16} If the salt bridge is nol used between two half cells, then the voltage:-
(A) Decrease rapidly  (B) Deerease slowly  (C) Does not change (D) Drops to zero
(17} If the rate equation of a reaction 24 = B — products is, rate = K[4]'[B ], and 4 is present in
large excess, then order of reaction is:- (A) 0 (@1 (€32 (D)3
21(Ob)(W)-2017(8)- 3F 0 (MULTAN)




INTERMED I
‘o 6483 | INTERMEDIATE PART- (11° CLASS)

CHEMISTRY PAPER-I (OLD SCHEME) (SESSION 2012-2014)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for each ohjective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting, or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank., No credit will be awarded in case

RUBBLES are not filled, Do not solve gquestion on this sheet of OBJECTIVE PAPER.
O.Ne.d

(1} 18g of glucose is dissolved in 90 g of water. The relative lowering of Vapour pressure is equal to:-

(A} (B)5.1 e %] (D) 6

L

{2} Il the sall bridge is not used between two half cells, then the volrage:-
(A) Decrease rapidly  (B) Decrease slowly  (C) Does not change (D) Drops to zero

(3)  Ifthe rate equation of areaction 24 + B -» productsis, rate= K[ 4 [ 2], and 4 is present in
large excess, then order of reaction is:- (A) 0 B)1 (C)2 (D)3

(4)  The number of moles of CO. which contain 8.0 g of Oxvgen:- (A) 0.25 (B) 05 (C) 1.0 (D) 1.5
(5) A limiting reactant is the one which:-

{A) Is taken in lesser quantity in grams as compared to other reactants

(B) Is taken in lesser quantity in volume as compared to other reactants

() Gives the maximum amount of product which is required

(D) Gives the minimum amount of product under consideration

(6) Solvent extraction is an equilibrium process and it is controlled by:- (A) Law of Mass Action
(B} The amount of solvent used (C) Distribution Law (D) The amount of solute

(7)  Number of molecules in one dnr’ of water is clased to:-

6.02 3 21 s 1R - ;
Ay 202 L qom @ 2M 0 L2 «10® (D) 556%602x10"
224 224 224
(&) A real gas obeying Vander Waal’s equation will resemble ideal gas ifi- (A) Both ‘o’ and *1" are large
(B) Both *a” and *b" are small (C) ‘a’ is small and *b" is large (D) *a’ is large and b’ is small
(91 Tn order to mention the bailing point of water at 110°C, the external pressure should be:-
(A) Between 760 torr and 1200 torr (B) Between 200 torr and 760 torr
(C) 765 torr (D) Any value of pressure
(1) is a pseudo solid.
(A) CaF, (B) Glass (C) NaC¢ (D) Any type of crystal

(11)  The wave number of the light emitted by a certain source is 2 x 10°m™" .
Ihe wave length of this light will be:»  (A) 500nm  (B) 500m (C) 200nrm (D) 5x10"m

(12) When 6 d orbital is complete, the entering electron goes into:-

(A) 7/ (B) T« (Cy7p (D) 74
{13) The number of bands in Nitrogen molecule 1s:-

(A)One ¢ and one 7 (B)One o and two £ (C)Three ¢ only (D) Two o and one «
(14) _ has zero dipole moment. (A) NH, By CHCY,  (C) H,0 (D) B,
(15) Calorie is equivalent to:- (A)0.4184] (B)41.84] (C)4.184) (D) 4184
(16) ThepH of 107 mal dm™ of an aguecus solution of H,80, is:- (A)3.0 (B)27 (C)2.0 (D)1.5

(17)  The solubility product of AgCé is 2.0 x 107 mol*dm™ . The maximum concentration of Ag™ ions
in the solution is:- (A) 2.0 10 " mol dm ™

(B) 1.41% 10 mol dm™ (C) 1.0 x 107" mol cdm™ (D) 4.0 107" maol dm™
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(1) In erder to mention the boiling point of water at 1107, the external pressure should be:-

(A) Between 760 torr and 1200 torr {B) Between 200 torr and 760 torr
((2) 763 torr (D) Any value of pressure
(2) is a pseudo solid.
(A) Cak, (B) Glass (C) NaC¥ (D) Any type of crystal

(3)  The wave number of the light emitted by a certain source iz 2x 10%m 7',
The wave length of this light will be:-  (A) S00nm (B) 300m  (C) 200mm (D) 5x 107 m

(4)  When 6 d orbital is complete, the enlering electron goes into:-
(A) 71 (B) 7 (C)1p Dy Td
(5) The number of bonds in Nitrogen molecule is:-
(A)One o and one 7 (B)One o and two m (C)Three o only (D) Two ¢ and one 7
(&) _ has zero dipole moment. (A) NH, (B) CHCY, ) H,0 (TN BF,
(7) Calorie is equivalent 1o:- (A)04184T (B)41.847 (C)4.1841 (D 418.4)
(8) ThepH of 10" mol dm™ of an aqueous solution of H,50, is- (A)3.0 (B)2.7 (20 (D15
(9)  The solubility product of 4gC¥ is 2.0 x 10 " moi*dm™ . The maximum concentration of Ag* ions
in the solution is:- (A) 2.0 x 10 " mol dm ™
(B) 141 % 107" mol dm * (C) 1.0 x 107 mol dm™ (D) 4.0 = 107 mol dm™

(10) 18g of glucose is dissolved in 90 g of water. The relative lowering of Vapour pressure is cqual ta:-
1 -
(A) 5 (B} 5.1 (C) 37 (D) 6

(11} If the salr bridge is not used between two half cells, then the voltage:-
(A) Decrease rapidly  (B) Decrease slowly  (C) Does not change (D) Drops to 7ero

(123 ITthe rale equation of a reaction 24 + B — products is, rate = &K [.4 ]:[ A ]1 and A4 is present in
large excess, then order of reaction is;- Ay 0 (Bl ()2 (D)3

(13)  The number of moles of CQ, which contain 8.0 g of Oxygen:- (A) 025 (B) 0.5 (C) 1.0 (D) 15
(14} A limiling reactant is the one which:-

(A) Is taken m lesser quantity in grams as compared to other reactants

(B) Is taken in lesser guantity in volume as compared 1o other reactants

(C) Gives the maximum amount of product which is required

(D) Gives the minimum amount of product under consideration

(15)  Solvent extraction is an equilibrium process and it is controlled by:- (A) Law of Mass Action
(B) The amount of solvent used  (C) Distribution Law (D) The amount of solute
(167  Number of molecules in one dm’ of water is closed to:-
18

(A) g;ﬁ 10% (B) 1_’2;‘: x 10% (C) ke 10" (D} 55.6 x 6.02 x 107

(17} A real gas obeying Vander Waal's equation will resemble ideal gas ifi-  (A) Both ‘a’ and ‘b’ are large

{B) Bath ‘a’ and *b° are small (C) *a issmall and ‘b’ is large (D) ‘a’ is largo and *b7 is small
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(1" Number of molecules in one dm’ of water is closed 10:-
oo B2 1208 | 18 i . ”
{(A) 247 % 10 (B) =% » 10 (C) = x 10 (D) 55.6 % 6.02 =10
(2) A real gas obeying Vander Waal's equation will resemble ideal gas ifi-  (A) Both ‘a’ and ‘b’ are large
(B) Both *a’ and ‘b’ are small (C) *a’ is small and ‘b’ is large (D) "’ is large and ‘b’ is small
(3} In order to mention the boiling point of water at 110°C, the external pressure should be:-
{A) Between 760 torr and 1200 torr (B) Between 200 torr and 760 torr
(C) 7635 torr (D} Any value of pressure
() is a pseudo solid.
(A) Cak, (B) Glass (Cy Nal (D} Any type of crystal

(3)  The wave number of the light emitted by a certain source is 2x10°m7".
The wave length of this light will bei-  (A) 500am  (B) 500m (C) 200nm (D) 5x 107 m

(6)  When 6 d orbital is complete, the eniering electron goes into:-

(&) rf (BY T« (C)7p () 7d
(7) The number of bonds in Nitrogen molecule is:-

(A)One o and on¢ & (B)One o and two # (C) Three o only (D) Two o and one
(8) __ hasverodipole moment. (A) NH, (B) CHCE, (C) H,OQ (D) BF,
(9) Calorie is equivalent to:- (A)0.4184) (B)41B4T  (C)4.184] (D) 418.4 ]
(10}  ThepHof 107 mal dm™ of an aqueous solution of H,80, is:-  (A)3.0 (B) o 0 S L U ST ) B 6

(11) The solubility product of 4gC# is 2.0 % 107 mol® dm™ . The maximum concentration of Ag” ions
in the solution is:- (A) 2.0 x 107" mol dm™

(B} 1.41 % 10°* mol dm™ (C) 1.0 % 10~ mal dm™ (D) 4.0 x 10 “moldm

(12) 182 of glucose is dissolved in 90 g of water, The relative lowering of Vapour pressurc is equal to:-

(A) (3)5.1 (C) Eli (D) 6

U'l'—

(13)  If the salt bridge 15 not used between two half cells, then the voltage:-
(A) Decrease rapidly  (B) Decrease slowly (C) Does not change (D) Drops to ze10

(14) If the rate equation of a reaction 24 + 8 — produets is, rate = K[A]EIB], and A is present in
large excess, then order of reaction is:- (A) 0 (®1 (C)2 (n 3

{15) The number of moles of 0, which contain 8.0 g of Oxygei:- (a) 0.25 (B) 0.5 (C) L0 (D) 15
(16) A limiting reactant is the one which:-

(A) Is taken in lcsser quantity in grams as compared to other reactants

(B) ls taken in lesser quantity in volume as compared o other reaclants

(C) Gives the maximum amount of product which is required

(D) Gives the minimum amount of product under consideration

(17) Solvent extraction is an equilibrium process and it is controlled by:- (A) Law of Mass Action

(B) The amount of solventused  (C) Distribution Law (D) The amount of solute

21OLNETERTN)20178-F G (MULTAN)




QBJECTIVE KEY FOR INTER (PART-I/

BOARD OF INTERMEDIATE AND SECONDARY EDUCATION,

MULTAN

\Name of Subject Chzmrsj‘h#

-ﬂfﬁhll u!‘l

er//J_’g “Gruup
l:l

aper | Paper | Paper | Paper
Code | Code | Lade Code |
" 48] 6483 CUES 6187 |
. 1lAl€c A|D
* |plDl8 |8
v | B PA A
i lAlElS |
> |8 |D |8 A |
£ 18 [e [P |
- |8 | D € |8
. LA |B|B D
% 1€ |48 |\B &
1.1 D i D ‘ A
2 lclc | B | c
188 ]A|D|
4. B D D B
15. C L C | C )q
s |D|8 (D D
il S -2 - B
18. . L
19. ,/"f |
20. T

Session

Group: _jed

Q.
Mos.

Annual Examinati ;]j?.
ol 7 7 Nees
"\ Sch

s B

Paper
Cuide

Paper
Code

_Code

248

2483

Papér

Paper |
Code

245

2497

oo

ol |0le

thﬁbn

a|[n|w o> o|zno/>y dlole» uln

bmmﬁbbw.bg!m_bmngﬁmg

\bPﬁUﬂ@UPUDﬁDb

\ oexonlon

L]
=

L d

Kev..ﬁ'lL ’L’J’M

Sl ¢ IrE 10T r./p;u ,{'_‘ﬂ,{;,! .-:'_}...J E _;. 2z
AT R s I UV Sot JL ¥ 54 - WALG A4 (Subjective & Gbaautwa}
{Syllabm]u‘k M.E:a.-umuﬁr ‘Jersmn.-.:;_Pf...ﬁJ VersiongJ ;fuhalﬁ'::..!ﬂLf ..{.wfb
.r*_-.fu‘ Liﬂrp g d‘ VS led l.;ﬂlu"-’s.’{'.—':'—dﬂﬂl.i)’"'ﬁ‘ =l Kardiv{d sl

- JhHﬂ‘,!L,-JuL,(ub;lﬁ‘_ VT T

PREPARED & CHECKED BY
Sr.No Name

FWMM% P

Designation

Imstitution

Mobile Ma,

Wi

U.r‘n_.- I.-flJ;Ik‘LrH"l'J}J?LJ,-“ﬂ-ﬂ—hHE?Lr':LJ

muﬁqw AL @Lwﬁmmmmff;
R&M&WM%M&HMMMW4




	0035.pdf (p.1)
	0037.pdf (p.2)
	0039.pdf (p.3)
	0041.pdf (p.4)
	0043.pdf (p.5)
	0045.pdf (p.6)
	0046.pdf (p.7)
	0047.pdf (p.8)
	0049.pdf (p.9)
	0051.pdf (p.10)
	0053.pdf (p.11)
	0055.pdf (p.12)

